
Label Picture Description QTY

A Seat 1

Please look in the bottom of seat frame for hardware packs and legs.
Sets often ship in multiple boxes and may arrive a day or two apart.

Parts List

CHAIR 

Assembly Instructions

Caution:  You must read this before you proceed.

Noble house Home Furnishings LLC     Page 1 Of 11



B Backrest 1

C Left Chair Leg 1

D Right Chair Leg 1

E Front Leg Support 1

F Back Leg Support 1

G Front Rail 1

H Seat Rail 1

Label Picture Description QTY

①

Bolt Set
 (M6x35mm) 5

Hardware

Noble house Home Furnishings LLC     Page 2 Of 11



②

Bolt Set
 (M6x50mm) 3

③
Wood Dowel DIA    

8x25mm
2

④
Wood Dowel DIA    

8x30mm
4

⑤
Wood Dowel DIA 

10x30mm
4

⑥
Pan Head Screw 

M5x32mm
10

⑦ Allen Wrench M4 1

⑧
Screwdriver

 (not provided)
1

Unpack 
all the 

parts for 
a clear 

overview.

Pack A for Locking the Left Chair 
Leg & Right Chair Leg with Front 
Leg Support & Back Leg Support, 
Front Rail and Seat Rail : Two 
Bolt:50mm+Two Flat Washer+Two 
Spring Washer + Four Wood Dowel 
Dia 8x30mm + Four Wood Dowel 
Dia 10x30mm + Eight Pan Head 
Screw M5x32mm.                                                                              
Locking the Seat with Seat Rail and 
Front Rail: Two Wood Dowel DIA 
8x25mm + Two Pan Head Screw 
M5x32mm

Assembly Preparation
Before Beginning Assembly:

B

A
C D

E

F

G

H

Noble house Home Furnishings LLC     Page 3 Of 11



Pack B for Locking the Backrest 
with Left Chair Leg & Right Chair 
Leg:Four Bolt:35mm + Four Flat 
Washer + Four Spring Washer

Overview

Allen Wrench M4 

Assembly Steps

This Dining Chair has multiple parts and may require up to some 30 
minutes to assemble.
To give you an overview of the Chair parts, the above picture is to help 
you put the various parts into perspective. 
Please read through the instructions below to familiarise yourself with the 
parts and steps before assembly.

Seat

FRONT
FACING

Backrest

Left Chair Leg

Back Leg Support 

Front Rail
Seat Rail

Right Chair Leg

Front Leg Support 

Noble house Home Furnishings LLC     Page 4 Of 11



Step 1

Place the Right Chair Leg (D) on a soft surface to avoid any scratches or 
damages to the product.
Step 2.1 Insert the Front Rail (G) with Right Chair Leg (D) by inserting 
Bolt Set (M6x50mm)② by using Allen Wrench M4⑦. 
Step 2.2 Screw up Seat Rail (H) with Right Chair Leg (D )by inserting 
Pan Head Screw M5x32mm⑥ using the Screwdriver (NOT 
PROVIDED)⑧.

DO NOT FULLY TIGHTEN SCREWS

Insert the Wood Dowel DIA 8x30mm④ into the Front Rail (G).
Then, insert the Wood Dowel DIA 10x30mm⑤ into the Front Leg 
Support (E) and Back Leg Support (F) as figure show as the picture. 

Step 2

Noble house Home Furnishings LLC     Page 5 Of 11



Step 3

Step 4

Step 3.1 Assemble Front Leg Support (E) with Right Chair Leg (D) by 
inserting Pan Head Screw M5x32mm⑥ by using the Screwdriver(NOT 
PROVIDED)⑧.
Step 3.2 Assemble Back Leg Support (F) with Right Chair Leg (D) by 
inserting Pan Head Screw M5x32mm⑥ by using the Screwdriver(NOT 
PROVIDED)⑧.

DO NOT FULLY TIGHTEN SCREWS
  

Noble house Home Furnishings LLC     Page 6 Of 11



Step 5

Assemble the Left Chair Leg (C)  with same step and same hardware.
Step 4.1 Assemble the Front Rail (G) with Left Chair Leg ( C）by 
inserting Bolt Set (M6x50mm)② by using Allen Wrench M4⑦. 

Step 4.2 Assemble Seat Rail (H) with Left Chair Leg (C) by inserting Pan 
Head Screw M5x32mm⑥ using the Screwdriver(NOT PROVIDED)⑧. 

Step 4.3 Assemble Back Leg Support (F) with Left Chair Leg (C) by 
inserting Pan Head Screw M5x32mm⑥ using the Screwdriver(NOT 
PROVIDED)⑧. 

Step 4.4 Assemble Front Leg Support (E) with Left Chair Leg (C) by 
inserting Pan Head Screw M5x32mm⑥ using the Screwdriver(NOT 
PROVIDED)⑧. 

Open the Black Cover back of BackRest (B).
Then,align the mounting position of BackRest (B) with mounting position 
of Right Chair Leg (D) and Left Chair Leg (C). 
After that, inserting Bolt Set (M6x35mm)① by using Allen Wrench 
M4⑦.

REMEMBER SEAL THE BLACK COVER BACK.
  
Noble house Home Furnishings LLC     Page 7 Of 11



Step 6

Step 7

Insert the Wood Dowel DIA 8x25mm③into the mounting position of 
Front Rail (G) as figure as the picture.

Remember Tighten Fully.

Noble house Home Furnishings LLC     Page 8 Of 11



Step 8

Align the Wood Dowel DIA 8x25mm③ with mounting position of Seat (A) 
as figure as the picture Step 8.1.
Then, screw up the Seat Rail (H) and Front Rail (G) by inserting Pan 
Head Screw M5x32mm⑥ by using Screwdriver (NOT PROVIDED)⑧.

Noble house Home Furnishings LLC     Page 9 Of 11



Step 9

Turn the Chair right side up.
Place the Chair on a LEVEL SURFACE.
Inspect it and make sure all parts are adequately connected.
Gently and gracefully, sit into to the Chair.
This would help to align all the parts at all the joint areas.

Then get off the Chair, and in a sequential manner, proceed to 
tighten all screws.
To tighten the Screws at the base of the Chair, do secure 
assistance from your adult partner(s).   
You may be required to turn the Chair, to gain easy access to 
the secure points.
Turn the Chair in a synchronised manner.

CAUTION 1: When tightening these screws, tighten sequentially.
DO NOT tighten any screw fully and then towards the next one. 
This would cause the frame to warp.
If there is still wobbles, loosen the screws and execute this same 
process.
WARNING!! IF CHAIR IS NOT STABLE , IT COULD LEAD TO 
DAMAGING THE PRODUCT.
Ensure all screws are fully locked into position.
The Chair is ready to be used.
Caution 2: This Chair can only be used on a flat, level surface.

Noble house Home Furnishings LLC     Page 10 Of 11



Noble house Home Furnishings LLC     Page 11 Of 11


